SYSTEMY WIEDZY
Zadanie 1
Discretize both attributes a and b in the decision table given below. Assume that d is the decision attribute. Use discernibilty formulas (RSES).
	
	a
	b
	d

	x1
	0,8
	2
	1

	x2
	1
	0,5
	0

	x3
	1,3
	3
	1

	x4
	1
	1
	0

	x5
	1,4
	0,5
	0

	x6
	1,6
	2
	1

	x7
	1,4
	1
	1


a:  o.8   1    1.3    1.4     1.6        b:  0.5     1    2     3               a:  [-, p2], (p2, -]
         p1  p2     p3      p4                        q1   q2   q3                b: [-, q1], (q1,q2], (q2, -]
F(x1,x2)=p1+q1+q2

F(x1,x4)=p1+q2

F(x1,x5)=p1+p2+p3+q1+q2

F(x2,x3)=p2+q1+q2+q3

F(x2,x6)=p2+p3+p4+q1+q2

F(x2,x7)=p2+p3+q1

F(x3,x4)=p2+q2+q3

F(x3,x5)=p3+q1+q2+q3

F(x4,x6)=p2+p3+p4+q2
F(x4,x7)=p2+p3
F(x5,x6)=p4+q1+q2

F(x5,x7)=q1
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Reduct ={q1,q2,p2}     
Zadanie 2
Find optimal reduct in the table below following RSH (RS Heuristic) strategy. Attribute h is a decision attribute.

	
	a
	b
	c
	d
	e
	f
	g
	h

	x1
	1
	0
	0
	0
	2
	1
	2
	1

	x2
	1
	0
	1
	1
	0
	0
	1
	0

	x3
	0
	1
	0
	1
	0
	1
	1
	1

	x4
	0
	1
	1
	2
	1
	0
	2
	1

	x5
	2
	2
	1
	2
	0
	1
	1
	1

	x6
	2
	2
	0
	0
	1
	1
	0
	0

	x7
	2
	0
	1
	1
	1
	0
	0
	0


